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� ��	� 	�� R�	������$��# ����� ��� ����� -	���� �� ��� �	���� ���

��� �� R�	������$�� �	������ �� 	 
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 �� ���	�� ��� $	��� ��"
����
�

���	��� ���� ����	�� ��	
��	���
 ����	��� 	
� ����� Zd���-���
���  �� ����

���	��� �
 ��� ����	�� �	�� �� ����� �� ��� ���-��� ��@# �A# �C# �1��

/ ��	
��	���
 ����	�� �� 	 �	�� (M,ω)# �����M �� 	 ����	�� G���	

 ����	��

	
� ω �� 	 
�
'��� /$���	
 ��7���
��	�# ��	� �� 	 ����������� ������� �	�� Σ ⊂
M ��� ��� �� '���� �� ω� ,���� ���
�� 	�� ��� ���!	�
������ �� ��� ��	
��	���


����	���  �� �-��� 	
��� θ ∈ S1 �
� ��"
�� 	 -����� "��� Xω
θ �
 ��������
 θ �


��� ��������
� M \Σ �� ��� ��
���	������ $� ω(Xω
θ ) = eiθ� ,�� ��������
��
�

��� ���� $� ��
���� ϕθ
t 	
� �� �	���� ��������
	� ��� �� ���	�������
� ���� ,���

��� ������-�� ��� 
	���	� 	��	 ���� �
 M ��-�
 $� i
2ω ∧ ω� ,�� ���	� 	��	 ��

��� ����	��# ���� ������� �� ���� 	��	 ����# �� ��
���� A(ω)�

/ �
���� 
����
���� �
 M �� 	 �������� �����
� ��� ��� 
	���	� �	� ���

���� �� ��� ����	�� ��	� ��

���� ��� ��
���	������# 
�� 
�����	���� �����
��# 	
�

������� 	
� ����� ��
���	���� �
 ��� �
������� ,� �	�� ���-� γ �� �	
 	�����	��

	 �����

����� =�� ����
���> ��
��� �$�	�
�� ��-�����
� ��� ���-� ���� M

�� R
2 	
� ���
 �	(�
� ��� ��7���
�� $�����
 ��� "
	� 	
� �
���	� ���
�� �
 ���


������	
 ��������� 5��
�����
� R2 ���� C �
� �	� hol(γ) =
∫
γ ω� / 
�������

C ⊂ M �� 	 �	���	� ��

����� �
��
 �� ������ ������ ��������� 	�� �� �����

	�� ��������� �
� �� ��� ������ / ������ �������� �
 	 ����
��� �� �	���� 	 
���


	��� �� ��� ����
��� ������# 	
� ��� ��
��� �� �	���� ��� ����� �� C�
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,�� ������ ��	�� �� ����	�� ��	
��	���
 ����	��� �� "��� ��
�� g 	
� ����

��� �	�� 
��$�� 	
� ����� �� ��
���	������ κ1, . . . , κs �� �	���� 	 ���
�	� 	
� ��

��
���� H(κ1, . . . , κs)� ,�� ��
�� �� �
�-��	��� �������
�� $� ��� �����(
��


������	 ��� '���� �� ����������� ������� �
 	 ����	�� G���	

 ����	��
∑

i κi =

2g − 2�

,���� �� 	 
	���	� 	����
 �� ��� ����� GL+(2,R) �
 ��	
��	���
 ����	���#

��-�
 $� ���������������
 ���� ��� ���	� ��	���� ,�� 	����
 �� 	
 �����
�

g ∈ GL+(2,R) �
 (M,ω) ���� $� ��
���� g · (M,ω)� 5
 �	������	�# �� ���� $�

�
�������� �
 ��� "��
��#���� !������
 ���# ��	� �� ��� 	����
 �� ��� ����� ��

��	��
	� �	������ Gt = diag(et, e−t)# ��� t ∈ R# 	
� ��� �
� ��-�
 $� ���	���
�

rθ =

(
cos θ − sin θ

sin θ cos θ

)
.

*�
�� ��� 	����
 �� GL+(2,R) ������-�� ��� ���������	� ��������� �� ��� ����	��

�� �	
 $� ���������� �� 	
 	����
 �� �	�� ���	��� H(κ1, . . . , κs)�

,�� ����� Aff+(M,ω) �� 
$�� 
	����������� �� 	 ��	
��	���
 ����	��

�� ��� ����� �� 	�� ����
�	���
 ������-�
� �������������� ��	� �	� ��
���	�

���
�� �� ��
���	� ���
��# 	�� ��7����������� �
 M \ Σ 	
� 	�� 	H
� �
 ���

�	�� ��� ���� ������� �� ��� ������
	��� ��-�
 $� ���	��� �
����	��
� ω� B
���

��� ���
��"�	���
 $�����
 �	
��
� ��	
�� 	� ���
�� p ∈M \Σ 	
� R2 ��-�
 $�

��� ���	� ������
	���# ��� ����-	��-� �� 	
� 	H
� 	����������� ���
����� ����

��� ��
�	� �	�� 	
� �� 	 ��
��	
� 2 × 2 ��	� �	����� /
� 	H
� ��7����������

������-�� ��� 	��	 �� ��� ����	�� 	
� ��
�� ��� ����-	��-� �	� �������
	
� 1� !�

���� �	-� 	 ���� ��"
�� �	� D : Aff+(M,ω) → SL(2,R)� ,�� ��	�� �� ����

�	� �� �	���� ��� %��
� !��	� �� M � ,�� (��
�� �� ���� �	� �� ��� ����� ��

��
���
���� �&	��
���
��# ��	� �� 	H
� 	������������ ����� ����-	��-� �� id�

,�� ��	
��	���
 ����	��� 	�� �	�� �� $� ��
���
���� �&	��
���� �� ����� �� 	


	H
� ��7���������� $�����
 ��� ��� ����� ����-	��-� �� ��� ���
���� �	�����

I�-�
 	 ��	
��	���
 ����	�� (M,ω) 	 ��
���
���� 
���� (M̃, ω̃) �� (M,ω) ��

	 ��-�� p : M̃ → M ���� ��	� M̃ �� 	 ��	
��	���
 ����	��# ω̃ = p∗(ω) 	
� ���
��-���
� �	� p �� ���	��� ��-�
 $� ��	
��	���
� �
 M̃ \p−1(Σ)� *�
�� (M̃, ω̃) �� 	

��	
��	���
 ����	��# �
 �� �� �	
 ��"
� ��� ���	�������
� ��� ϕ̃θ
t �
 ��������
 θ�

 ������
� ����# �
� �	
 ��-� 	 ���� ��
����� ��"
����
 �� 	 ��	
��	���
 ��-��

�
 ��� �	�� ���
 ��� ��-���
� ����� �� Z2# �
 ����� �����# ��� ����	�� M̃/Z2

�� ������������ �� M � 5
 ���� �	�� 	�� Z2���-��� �� 	 ����	�� ��

�����
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��	
��	���
 ����	�� (M,ω) 	�� �
 �
������
� ��������
��
��# �� �� �������

�����# ���� ��
�	��� �
����
��
� �	��� �� 	$�������� �������� ��	���� (γ1, γ2) ∈
H1(M ;Z)2� !� ����� Γ = (γ1, γ2) ��� ���� 	 �	�� 	
� ��
��� ��� ��-���
� ����

�	�� ���� (M̃Γ, ω̃)� 5� �� ��
��� ��� 	���$�	�� �
���������
 ���� �
 M ����

〈 · , · 〉 : H1(M ;Z) × H1(M ;Z) → Z# ���
 ��� ���� �� 	 ������ ���-� σ �
 ���

����	�� M �� 	 �	�� σ̃ : [t0, t1] → M̃Γ ���� ��	� σ̃(t1) = (n1, n2) · σ̃(t0)# �����
(n1, n2) =

(〈γ1, [σ]〉, 〈γ2, [σ]〉) ∈ Z2 	
� · �� ��� Z2�	����
 $� ���( ��	
�����	���

�
� �
 (M̃Γ, ωΓ)�

/ 
�����	�� ��
�����
# ��� �0�# ��� �������
�� �� ��� ��� ϕ̃θ
t �� ��� ������'�


��������# ��	� ��

hol(γi) =

∫
γi

ω = 0, ��� i = 1, 2.

 �� Z���-���# 	� F� 6����� 	
� J� !���� ������ �
 ����# �
��� ��� 
�������

��
�����
 �������
�� �� ϕ̃θ
t �� 	 ��
��4��
�� �� ��
��	� ���
������� ���������� ��

��� ��� ϕθ
t �
 M ������� �������
�� �� ϕ̃θ

t �
 M̃γ � 6���-��# ��� Z
2���-��� ����

�� 
�� ����# 	� ����
 $� 2� <�������� �
 �.�� 5
 ��� �������
�# �� ���� 	��	��

	����� ��	� ��� 
������� ��
�����
 �� �	���"��� ,�� ����� �� �������� ��	����

�	-�
� '��� ����
��� ���� $� ��
���� H
(0)
1 (M ;Z)�

0�0� ��!�!��� �

 ����
���� "������ !� 
�� ���	�� ���� ��"
����
� ����

�
"
��� ������� ������ ��	� �� 	�� ���
� �� 
��� �
 ����� �� ��	�� ��� ��������


��� ���������� �� ϕ̃θ
t �
 	 Z2���-�� �� 	 ����	�� ��	
��	���
 ����	���  �� ����

���	��� �
 ��� ��$3��� �� ����� �� ��# KC���C�0� �� ��+��

8�� Ft : X → X $� 	 ��� �
 ��� ��	���� ��	�� (X,μ)# ����� μ �� 	 
�
�

	����� ���$	$����� ��	���� ����� �� �
-	��	
� �
��� ��� 	����
 �� ��� ���� /

��	���	$�� 
�
�
�� α : X × R → Z2 �� 	 ��
����
 �	������
�

α(x, t+ s) = α(x, s) + α(Ftx, s),

��� �-��� x ∈ X 	
� t 	
� s �
 R� !��� ����� ��� �
������
�� �� ��"
� 	 ���

F̃t �
 ��� ��	�� X̃ = X × Z2# �4������ ���� ��� 
	���	� ��	����# �����
�

F̃t(x, n) = (Ftx, n+ α(Ftx, n)).

,��� ��� �� �	���� 	 Z2��
�	�� � �������	
� �� Ft� /
 �����
� (n1, n2) ∈ Z2

�� �	���� 	
 �������
� �
�	� ��� ��� �(���������� ��# ��� 	
� ��	���	$�� ���

A ⊂ X �� ������-� ��	����# ����� �� 	 ��� �� ����� t ���� ������-� ��	���� ����
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��	�

μ
({ x ∈ A : Ftx ∈ A,α(x, t) = (n1, n2) }

)
> 0.

;
� �	
 ���� ��	� ��� ��� �� ����
��	� -	���� �� 	 ��$����� �� Z2� !� ���� ���

��� �������
� ,������# ��� �� %� *������ ��+# ������	�� ��@��

������� #� ��� Ft �� �� ����	��  �� �� � �������
�� 
������ ����� (X,μ)

��	 ��� α : X × R → Z2 �� � �������� ���� ��� �#������	��� F̃t �� ����	�� �


��	 ���� �
 ��� ��� �
 ��������� ������ ������	�� ���� Z2�

I�-�
 	 Z2���-�� M̃Γ �� 	 ����	�� ��	
��	���
 ����	�� M �������
�� $�

��� ��
�	��� �
����
��
� ���-�� γ1 	
� γ2 �
 H
(0)
1 (M ;Z)# �� �	
 ��	���� ���

��������
	� ��� ϕ̃θ
t 	� 	 �(���������� �� ��� ��� ϕθ

t �
 M �
 ��� �������
�

�	�� ������ 	
 	�$���	�� ���
� x̄ ∈ M 	
�# ��� �-��� ����� ���
� x# ������ 	

��
��
���� �	�� γx,x̄ ���� x �� x̄� )����-��# ����� γx̄,x ��� ��� �	�� ��	� �	�

��� �	�� ��	�� 	
� �������� ����
�	���
� ,��
 ��"
� ��� Z2�-	���� ������� α

$�

α(x, t) =
(〈γ1, ηx,t〉, 〈γ2, ηx,t〉),

����� ηx,t �� ��� =�������� ��	�� �� ���> ������ �	�� ��	� ��

���� x̄ �� x 	��
�

γx̄,x# ���
 ���� x �
 ��������
 θ ��� ���� t �� �� ϕ
θ
t (x) 	
� "
	��� ������ �� 	��
�

γϕθ
t (x),x̄

� ;
� �	
 �	���� -����� ��	� α �� �
���� 	 ������� 	
� ��	� ��� �(���

������� �� ϕθ
t �-�� α �� ��	���	$�� �4��-	��
� �� ��� ��� ϕ̃θ

t � <�7���
� �������

�
 ��� ��"
����
 �� α ��	� �� ��7���
� �(�����������# ����� 	�� 	�� ��	���	$��

���������� �� �	�� ������

(� ��!���
��� )��������

5
 ���� ������
 �� ���-� 	 ��������
 ��� ���������� �� ��� ��������
	� ��� ϕ̃θ
t �


	 Z
2���-�� �� 	 ����	�� ��	
��	���
 ����	��� ;�� ��������
 �� 	 ��
��	���	���
 ��

��� �
� ���-�
 $� F� 6�$��� 	
� J� !���� �
 ��.��

5� C �� 	 ����
��� �
 ��� ����	�� ����	��M # �� ��
��� ���� δ(C) ∈ H1(M ;Z)

��� �������� ��	�� �� 	 ���� ���-� �� C� !� �����

k(C) = (〈γ1, δ(C)〉, 〈γ2, δ(C)〉) ∈ Z
2

	
� v(C) ��� ��� �����	����
� -����� �� δ(C)�  �
	���# ��� A(C) $� ��� 	��	 ��

��� ����
��� C�  ��� ��� ����������
 �� ��� Z2���-�� �� �	-� 	$�-� �� �������

��	�# �� k(C) 
= (0, 0)# ���
 ��� ���� C̃ �� C �� M̃ �� 	
 �
"
��� ������ !� ���	��

��� �������
� <�"
����
# "��� �
�������� �
 ��.��
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$�������� %& / ��������
 θ ∈ S1 �� ���� 
�������
��� �� ������ �� ����� 	��

ε > 0# kθ 
= (0, 0) 	
� �
"
����� �	
� ������ C̃ ⊂ M̃ ���� ��	� k(C) ≡ kθ#

A(C) > ε 	
�

|(cos θ, sin θ) ∧ v(C)| ≤ (1 − ε)
A(C)

2‖v(C)‖ .

!��� 	�������	��� ��������
� 	�� ���	��� ���� ����
��	� -	����� )��� ���������

�
� �	� ��� �������
�

$���������
 %� '������ θ ∈ S1 �� � 	�������� ���� �� ���� �������
���	 ��

������� ���� kθ �� �� ����
��	� -	��� 
�� ��� �������������  �� ϕ̃θ
t �� M̃ �

,�� F���������
 �� ���-�� �
 ��.� ��� ��� �	�� �� Z���-���� ��� ����� ��	�� �0�

,�� ����� ����� -��$	��� ��� Z2���-���# ���� ��� �$-���� ����"�	���
�� 5


�	������	�# ���� ��
������ ��$����� ����	
���� �
 ��� Z���-�� ���� ����� �


��������
 θ 	
� θ + π
2 	
� �������� ���
��� 	� ��� ���
�� x 	
� k · x# �����

k ∈ Z# 	
	�������� �� kθ �
 <�"
����
 �# �� ��� -	��� �� ��� 	���$�	�� �
���������


���� $�����
 	 ���� ���-� �� 	 ����
��� 	
� ��� ���-� ��-�
� ��� Z���-��# 	
�

· �������
�� ��� Z�	����
 �
 ��� ��-�� ������� !� ������ ��	� ��"
����
 	�(�
�

��� ���
��� �� ����	
���� �� $� ��	��� 	� x 	
� kθ · x# ����� · 
�� �������
��

��� Z2 	����
 �
 M̃Γ�

!� ���� ��������� �	� ��	� 	 ��4��
�� �� ������ C̃n ���� 	�������	��
� 	

��������
 θ ∈ S1 ����	
�� ��� ����
��	� -	��� kθ� !� �	
 "
	��� ��	�� ���

���������� ��������
�

$���������
 & =
��������� ��������
>� ��� θ ∈ S1 �� �� ����	�� 	�������� 
��

��� 	����������  �� �� ��� ��
���� ����������� ���
��� (M,ω)� (
 θ �� ����

�������
���	 �� ��� ��)������ �
 ������ ���� khθ ≡ (±1, 0) ��	 kvθ ≡ (0,±1)!

���� ���  �� ϕ̃θ
t �� ��� ���
��� (M̃Γ, ω̃) �� ��������

*���
� 8�� C̃h
n 	
� C̃

v
n $� ��� ��4��
��� �� 9����'�
�	�: 	
� 9-�����	�: ������ ��	�

���� 	�������	�� θ� 5� p : M̃ → M �� ��� ��-���
� �	�# ����� Ch
n = p

(
C̃h

n

)
	
�

Cv
n = p

(
C̃v

n

)
� *������ �� �	-� k(Ch

n) = khθ ≡ (±1, 0) 	
� k(Cv
n) = kvθ ≡ (0,±1)�

,��
# $� F���������
 A# khθ 	
� k
v
θ 	�� ����
��	� -	���� ��� ��� �(���������� ϕ̃

θ
t �

*�
��# 	� �� ���	���� �	�����# ��� ��� �� ����
��	� -	���� �� 	 ������ ��$����� ��

Z2 	
� �� �	-� ����
 ��	� ��� ��
��	���� �� ���� ����� 	�� ����
��	� -	����#

��� ��
������
 
�� ������� �������� ���� ,������ @�
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,� ���� ��	� ��� ��	
��	���
 ��� ϕθ
t �
 ��� ����	�� ����	�� (M,ω) �� �������#

	� �
 ��� ���������� �� ��� ���������� ��������
# �� ���� ��� 	 ��	����	� ������#

��� �� 6� )	��� �����

������� ' =)	���L� ��������
 ����>� ��� (M,ω) ∈ H(κ1, . . . , κs) �� � ��
����

����������� ���
���� ��� g ∈ SL(2,R) �� � 
����� ���� ���	� ��� 	��������

θ �� ��� �������� 	��������� '������ ���� ����� ����� � ����	�	 ������ B ⊂
H(κ1, . . . , κs) ��	 � ��)����� �
 ��
�� tn → +∞ ���� ���� Gtn(g · (M,ω)) ∈ B


�� ��� n ∈ N� ���� ��� 	����������  �� ϕθ
t �� (M,ω) �� 	��&	��� ��!���
�

5� �� ����� �������
� ��	� ��� ���� �� ��� ����� �� �
 �����
� ��	� �� �	


��
������ ��� ��4��
�� �� ������ 	� �
 ��� ��	����
� �� F���������
 +# ��	� �� ���

��
��
� �� ��� �������
� ����� ������
��

*� )�����	
���� �' ��!���
 ����
�����

!� ��"
� ��� ��
������ �����

T
2
0 =

(
R

2 \
{ (n

2
,
m

2

)
, n,m ∈ Z

})
/Z2.

/ ��
�	��
�	� ���	�
 ��� �� �� ��� ��$���

=�> T 2
0 =

[− 1
2 ,

1
2

)× [− 1
2 ,

1
2

) \ {(0, 0), (− 1
2 ,− 1

2

)
,
(− 1

2 , 0
)
,
(
0,− 1

2

)} ⊂ R
2.

 �
	���# ��� π : T2
0 → T 2

0 $� ��� $�3�����
# �
����� $� ��� 4�����
� �	�# $�����


��� ���� 5
 ��� �������
�# �
���� ���������� ��	���# �� ���� ���
���� T
2
0 ���� ���

��
�	��
�	� ���	�
 T 2
0 -�	 π�

 �� z ∈ T2
0# ��� M(z) ∈ H(1, 1) $� ��� ����	�� �������
��� �
  ����� @# �	��

��� �� ��� �4�	�� ���� ����� 	��
� 	 ����� !� ���� �����
����� ��� ��� ��
���	������

��M(z) �
� ���� ��� ������ 5
 �	������	�# z = (x, y) ���� 	��	�� $� ��� �������


�� ��� ��
���	���� ��
���� $� • 	
� −z ��	� �� ��� ��
���	���� ��
���� $� ◦� 8��
ω $� ��� 1����� �
����� $� dz �
M(z)# 	
� �	�� L ⊂ H(1, 1) ��� ����� �	�� ��

	�� ��� ����	��� (M(z), ω) ��� z ∈ T2
0� !� ���	�( ��	� ��� ������� ������ �� ���

���� 3��
�
� ��� ��� ��
���	������ �
 ��� ��
�	��
�	� ���	�
 ���� 
�� 	7��� ���

�	� �������� ��M(z)# 	� ��� ��7���
� ������� 	�� ��	
��	���
 �4��-	��
� �� �	��

������ 6���-��# ���� �� ����-	
� ��� ��� 	
	����� �� ��� �������� �� ��� ����	��

�� 	�� ���
� �� �	���� ,� ���� �
�# �� ���� 	��	�� ������ ��� ���� �$�	�
�� $�

���3����
� �
 ��� ���� ��� ���	���� �����
� �
 ��� ��	
� 3��
�
� ��� ���
�� π(z)

	
� −π(z)# 	� ����
 �
  ����� @�
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R
L

L
R

α

β β

α

 ����� @� ,�� ����	�� M(z) ���� ��� ����
��� Ch
z �
 ����� $���

	
� ��� ����
��� Cv
z �
 ��	
���

,�� ��
�	� 	����
 �� GL(2,R) �
 ��� ��	
� R2 ∼= C �
����� 	
 	����
 ��

��� ��$����� GL(2,Z) �
 ��� ����� T
2
0� ;
� �	
 ���� =��� �C# �� A@C 	
�

��� A�0MA�@�#> ��	� ��� ����� L �� ������-�� $� ���� 	����
� 5
 �	��# ��� ����	��

g ·M(z) �� ��	
��	���
 �4��-	��
� �� ��� ����	�� M(gz)# ��� g ∈ GL(2,Z)�

,�� ����� �� ��	
��	���
 �4��-	��
��� �� M(z) ��
����� �� ��� �����
��# ���

���
���� id 	
� ��� �
-������
 τ ��	� ����	
��� ��� ��� �4�	��� $� ��	
��	���
��

;
� �	�

H
(0)
1 (M(z);Z) = { γ ∈ H1(M(z);Z) : τ∗γ = −γ } ,

����� τ∗ ��
���� ��� �
����� 	����
 �
 ��� ���������  �� �-��� ����	��M(z) ∈
L ��� {α, β} $� ��� $	��� �� H(0)

1 (M(z);Z) 	� �
  ����� @� ,� 	
� ���� ����	��

�� 	�����	�� 	 Z2���-�� (M̃(z)Γ, ω̃)# ����� Γ = (β,−α) 	
� ω̃ �� ��� ����$	�(

�
��� ��� ��-���
� �	� �� ω� ,�� 
��	��-� ���
 �
 α �� ��� �� ��� ����
�	���


�����
 ��� α� ���  ����� @� !� ���	�( ��	� ��� ����
�	���
 ��-���
� M̃(Z2, R)

�� F (Z2, R) ���
����� ���� M̃(R)Γ�

G������
��
� �-��� ����	�� �
 L 	� M(z)# ��� ���� z ∈ T2
0# 	����� �� ��

��
�����
��� ������ 	 ��	
�	�� $	��� �� H
(0)
1 (M(z);Z)# ��-�
 $� ��� ���-�� α

	
� β 	� �
  ����� @� ?��� ��	� ���� �� �4��-	��
� �� ������ 	 ���
��
 �� ���

��	
��	���
 ����	��� ��
�������� B
��� ���� ������ �� $	��� �� �	
 �������
� ���

�
����� 	����
 �� 	 �	���� g ∈ GL(2,Z) �
 ��� '��� ����
��� ��������

g∗(z) : H
(0)
1 (M(z);Z) → H

(0)
1 (g ·M(z);Z)

���� 	 2×2 �
����� �	����� )��� ���������# 	� ��� ����� �� ��	
��	���
 �4��-	��
�

��� �� M(z) ��
����� �� ��� �����
��# ����� 	�� ��	���� ��� �	��
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ζg, τ ◦ζg : M(z) → g ·M(z) ��	� �	-� 	 "��� �	���� g 	� ����-	��-�� ,���� �
���

��� 	����
 ���� H
(0)
1 (M(z);Z) �� H

(0)
1 (g ·M(z);Z) �� ���	��� $� (τ ◦ζg)∗ = −ζg∗ �

5
 ����� �����# ��-�
 	 �	���� g ∈ GL(2,Z)# ��� �
����� 	����
 �
 ��� '��� ���

��
��� �������� g∗(z) �� ���� ��"
�� �
�� 	� 	
 �����
� �� PGL(2,Z)� ;
�

�	�

=0> (g1 · g2)∗(z) = (g1)∗(g2z) · (g2)∗(z).
��
"�
���
� *�
�� �� 	�� �
�������� �
�� �
 ��� 	����
 �
����� �
 ��� '���

����
��� ��������# ��� ��� �	(� �� $��-��� �� ���� ����� g∗(z) �� ��
��� ���
	����
 ���� H

(0)
1 (M(z);Z) ⊂ H1(M(z);Z) �� H

(0)
1 (g ·M(z);Z)� )����-��# ���


��	���
 g∗(z) �� ��	
� �� ������ ��� �	�� ��	� ��� �
����� 	����
 �� ��� �	����
g ���� H

(0)
1 (M(z);Z) �� H

(0)
1 (g ·M(z);Z) ����
�� �
 z# ��� �
����
� �� ���

����� ��� 8���	 �� ��� ���� ���	����

@��� ��
����!���
 �� ��� �������  �� z ∈ T2
0 	
� ��� π(z) = (x, y) ∈ T 2

0 �

!� ���� ��
����� ��� �������
� ��� ����
���� �
 M(z)�

Ch
z =

[− 1
2 ,

1
2

)× ([|y|, 12) ∪ [− 1
2 ,−|y|]) ,=.>

Cv
z =

([|x|, 12) ∪ [− 1
2 ,−|x|])× [− 1

2 ,
1
2

)
,=@>

����� 	�� �������
��� �
  ����� @� /� ��� 
��	���
 ��������# �� ���� ��� ���

������ �� �$�	�
 	 �	���� �� ������ ���� 	�������	��
� 	 ��������
 θ 	
� ����

khθ ≡ (±1, 0)� ��� �	���� ���� ��	� �� 	 �	���� �� ������ ���� kvθ = (0,±1)� !� ����

��������� �	�� 	��� ��� ��	�� �
��� 	 �	���� g ∈ GL(2,Z) �� ��� "��� ����
���

9����'�
�	�: 	
� �� ��� ����
� �
� 9-�����	�:�

,�� �����	����
� -������ �� ��� ���� ���-�� �� ����� ��� ����
���� 	�� v(Ch
z ) =

(1, 0) 	
� v(Cv
z ) = (0, 1)� !� �	-� k(Ch

z ) = (〈δ(Ch
z ), β〉, 〈δ(Ch

z ), α〉) = (1, 0)

	
� k(Cv
z ) = (0, 1)�  �
	���# ����� 	��	� 	�� ��-�
 $� A(Ch

z ) = 1 − 2|y| 	
�
A(Cv

z ) = 1− 2|x|�
8�� g ∈ SL(2,Z)� !� ���� ��
��� zg = (xg, yg) = g−1(z) 	
� ζg : M(zg) →

M(z) �
� �� ��� 	H
� ��	
�����	���
� ��	� �	� g 	� ����-	��-�� !���� Ch
g =

ζg(Ch
zg ) ⊂M(z)� 5�� ���� ���-� �� δ(Ch

g ) = ζg∗ (δ(Ch
zg ))� !� �	-�

v(Ch
g ) = v(ζg∗ (δ(C

h
zg ))) = hol(ζg∗ (δ(C

h
zg ))) = Dζg hol(δ(Ch

zg )) = g(1, 0),

A(Ch
g ) = A(ζg(Ch

zg )) = A(Ch
zg ) = 1− 2|yg|.
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)����-��

k(Ch
g ) = (〈ζg∗ (δ(Ch

zg )), β〉, 〈ζg∗ (δ(Ch
zg )), α〉)

= (〈δ(Ch
zg ), (ζ

g
∗ )

−1β〉, 〈δ(Ch
zg ), (ζ

g
∗ )

−1α〉).

5� �� 	����� ��	� g∗(zg) : H
(0)
1 (M(zg);Z) → H

(0)
1 (M(z);Z) = id �� �	-�

k(Ch
g ) = ±(〈δ(Ch

zg ), β〉, 〈δ(Ch
zg ), α〉) = (±1, 0).

*����	� ������	���
� ���� 	��� ��� ��� 9-�����	�: ����
���� Cv
g �

5
 ����� �� ��	�� ��� ������ �� 
��� �� �
������� ���� 
��	���
� I�-�
 	 ��	�


��$�� 0 < x < 1 ��� ��
��
��� ��	����
 ���	
���
 �� ��
����

x = [0; a1, a2, . . . ] =
1

a1 +
1

a2 + · · ·

,

�����-�� �	��

h+ =

(
1 1

0 1

)
	
� h− =

(
1 0

1 1

)
.

������� (� '������ ���� z = (x, y) ∈ T2
0! ��� ϑ = [0; a1, a2, . . . ] ��	 �� ε > 0�

+���
� ���� ����� �� � ��)����� �
 ���� ��
�� kn ���� ����(
ha1
+ · · ·hakn−

) ·M(z) =M(z) ��	
(
ha1
+ · · ·hakn−

)
∗(z) = id .

�������! �������

akn ≥ 4(1 + ε)

1− 2|x| ��	 akn+1 ≥ 2(1 + ε)

1− 2|y| .

���� ��� 	����������  �� ϕ̃θ
t �� 	�������� θ �
 ��� ������ (1, ϑ) �� ��� Z2������

M̃(z)Γ! ����� Γ = (β,−α)! �� ��������
*���
� !� ��-��� ��� ����� �
 ����� ������

���� �� ��� ��� ϕθ
t �
M(z) �� ��
����� <�
��� $� pn

qn
��� n��� ��
-����
�

�� ��� ��
��
��� ��	����
 ���	
���
 �� ϑ� ,��


ha1
+ · · ·hakn− =

(
qkn qkn−1

pkn pkn−1

)
.

,�� �	����

σ =

(
ϑ −1

0 1
ϑ

)



,��� --" -"./ �%)&0(1 0(%�1'(&*2 (* �#'&* 3�*2�2 4!

��
�� ��� -����� (1, ϑ) �� ��� -�����	� ��������
� 8�� �� ���� ��	� ��� ��4��
��

(Glog kn · σ ·M(z))n∈N ⊂ H(1, 1)

�� $��
��� �
 ��� ���	���� !� �	-�

Glog kn · σ ·M(z) = σn ·M(z),

�����

σn = diag
(
qkn ,

1
qkn

)
· σ · ha1

+ · · ·hakn−

=

(
qkn 0

0 1
qkn

)(
ϑ −1

0 1
ϑ

)(
qkn qkn−1

pkn pkn−1

)

=

(
qkn(qknϑ− pkn) qkn(qkn−1ϑ− pkn−1)

pkn

ϑqkn

pkn−1

ϑqkn

)
.

/�� ��� �
����� �� σn 	�� ��
�	�
�� �
 [−1, 1]� 5
 �	��

|qkn(qknϑ− pkn)| < |qkn(qkn−1ϑ− pkn−1)| < 1

	
�# ��
�� �� 	������ ��	� kn 	�� �-�
 
��$���#

0 <
pkn−1

qkn

<
pkn

qkn

< ϑ.

�	��G0 ⊂ SL(2,R) ��� ����	�� ��$��� �� �	������ ���� 	�� ���H���
�� �
 [−1, 1]�

,��
 ��� ��$�� G0 ·M(z) �� 	 ����	�� ��$��� �� H(1, 1)� *�
�� �� �	-� ����


��	� σn ·M(z) ∈ G0 ·M(z) ��� 	�� n# �� �	
 	���� )	���L� ��������
 =,������ C>

	
� ������ ��	� ��� ��� �
 ��� ��������
 θ �� ��� -����� (1, ϑ) �� �
�4���� �������

�
 ��� ����	�� ����	�� M(z)�

���� �� θ ��  ��� �����)�����
 �� *����+�
���, !���

���� ,��

���������� ��	�	
���# ��� �-��� n# ��� ������
�� �� ��	
�����	���
�

ζn : M(z) →M(z)

����� ����-	��-� �� Dζn = ha1
+ . . . h

akn− 	
� ��	� 	�� ���-�	��� �
 ��� ����
���

'��� ��������� ��
����� ��� ����
���� Ch
n = ζn(C

h
z ) ⊂M(z)# ����� Ch

z �	� ���

"
�� �
 =.>� J� ��� 	��������
�# 	
� $� ��� ������	���
� $����� ��� ��	����
�

�� ��� ,������# �� �	-�

k(Ch
n) = (1, 0),

A(Ch
n) = A(Ch

z ) = 1− 2|y|,
v(Ch

n) = (Dζn)v(C
h
z ) = (Dζn)(1, 0) = (qkn , pkn).
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*�
�� k(Ch
n) 
= (0, 0) ��� ����
���� ���� �� ������ �
 ��� �
"
��� ����	�� M̃(z)Γ�

!� 
�� ���� ��	� ����� ������ ���� 	�������	�� ��� ��������
 θ� ;
 �
� �	
�

�� �	-�

|(1, ϑ) ∧ v(Ch
n)|

‖(1, ϑ)‖ =
|(1, ϑ) ∧ (qkn , pkn)|

‖(1, ϑ)‖ =
|qknϑ− pkn |
‖(1, ϑ)‖ <

1

‖(1, ϑ)‖
1

akn+1qkn

,

�
 ��� �����

A(Ch
n)

2‖(Ch
n)‖

≥ 1− 2|y|
2qkn‖(1, ϑ)‖

.

*�

|(1, ϑ) ∧ v(Ch
n)|

‖(1, ϑ)‖ ≤ 1

1 + ε

A(Ch
n)

2‖(Ch
n)‖

�� akn+1 ≥ 2(1+ε)
1−2|y| �

���� �� θ ��  ��� �����)�����
 �� *"����!��, !���

���� !� 
��

���
 ��� 	���
���
 �� ��� ����
���� Cv
n = ζn(C

v
z )# ����� C

v
z �	� ��"
�� �
 =@>

	
� ζn �� ��"
�� �
 ��� ���-���� ����� 8�� �� ���	�� ��	�

k(Cv
n) = (0, 1),

A(Cv
n) = A(Cv

z ) = 1− 2|x|,
v(Cv

n) = (Dζn)v(C
v
z ) = (Dζn)(0, 1) = (qkn−1, pkn−1).

/� $�����# ����� ����
���� 	�� ���� �� �
"
��� ������ �
 M̃(z)Γ� ?��� ��	�# ��
��

α <
pkn−1

qkn−1
# ��� 	
	����� �� �	����� ��� �
 ��� ���-���� ���� �	

�� $� 	������

�
 ���� �	�� 	
� �� �	-� �� ������� �
 	 �������� ��7���
� �	�� !� �	-�

|(1, ϑ) ∧ v(Cv
n)|

‖(1, ϑ)‖ =
|(1, ϑ) ∧ (qkn−1, pkn−1)|

‖(1, ϑ)‖ <
1

‖(1, ϑ)‖
1

aknqkn−1
,

	
�
A(Cv

n)

2‖v(Cv
n)‖

=
1− 2|x|

2‖(qkn−1, pkn−1)‖ .

5�����
�

1

‖(1, ϑ)‖
1

aknqkn−1
≤ 1

1 + ε

A(Cv
n)

2‖v(Cv
n)‖

,

�� �$�	�
 ��� �
�4�	����

akn ≥ ‖(qkn−1, pkn−1)‖
qkn−1‖(1, ϑ)‖

2(1 + ε)

1− 2|x| .
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8�� �� ����� �
 ��� "��� �	��� �
 ��� G6*� B��
� ��	� kn �� �-�
 	
� ��	�

aknqkn−1 < qkn = aknqkn−1 + qkn−2 < (akn + 1)qkn−1 �� �	-�

‖(qkn−1, pkn−1)‖
qkn−1‖(1, ϑ)‖ <

qkn‖(qkn−1, pkn−1)‖
qkn−1‖(qkn , pkn)‖

<
akn + 1

akn

‖(qkn−1, pkn−1)‖
‖(qkn−1, pkn−1)‖ ≤ 2,

����� "
	��� ��-��

akn ≥ 4(1 + ε)

1− 2|x| ≥
‖(qkn−1, pkn−1)‖
qkn−1‖(1, ϑ)‖

2(1 + ε)

1− 2|x| .

,�� ����� ����� �� 3��� ��������� ���� ��	� 	�� ��� ���������� �� ��� 
����

������ ��������
 �
 F���������
 + ���� 	
� ��
�� �� �	-� ����
 ��	� ��� ���

ϕ̃θ
t �
 M̃(z)Γ �� ��������

@�0� ��� �!���
 �� SL(2,R) �
 ��� ������	�� ,�	
(� �� ,������ 1 ��

�	-� ������� ������-�� �� ��
������ ��	
�����	���
� �
 SL(2,R) ��	� 	�� ���-�	���

�
 ��� '��� ����
��� ��������� 5
 ����� �� ��
������ ���� �����
��# �� 
��� ��

	
	���� �
 ���� ���	�� ��� �
����� 	����
 �� SL(2,R)� *�� ω =
(

0 1−1 0

)
� !� �	-�

��� �������
� ���
������# ����� �	
 $� -���"�� ������ $� �	���� ���������	���
�

	
� ��	� ���� $� �����	� �
 ��� ��
��������
�

=�> ω · h± · ω−1 = h−1
∓ , h− · h−1

+ · h− = ω−1, h+ · h−1
− · h+ = ω.

-���� �.� ��� F =
{
(x, y) ∈ T 2

0 : x, y 
= − 1
2

}
� ���� 
�� ����� z ∈ F

(− id)∗(z) = id .

��� g �� �� ���
��� �
 SL(2,Z) ��	 ��� g ·M(z) =M(z′)! ���� z, z′ ∈ F � ����

=A> g ·M(−z) =M(−z′) ��	 g∗(−z) = g∗(z).

*���
� ,�� �
-������
 − id 	��� �
 L $� ���	��
� �	�� �4�	�� �� M(z) $� ���

	
��� π� 5
 �	������	�# ��� �
����� 	����
 �
 H
(0)
1 (M(z);Z) ��
�� α �� −α

	
� β �� −β# �
���� z $���
�� �� ��� $��
�	�� �� T 2
0 � ,�� "��� ��	�� �������

����	
��
� ��� ��� �4�	��� ��	� ���� M(z) ���
� ��� 	H
� 	����������� τ �

,�� ����
� �
� ������� ���� ��� �	�� ��	� g ·M(z) =M(gz) 	
� ��	� g 	
�

− id �������# �� �� �	-� g ·M(− id z) =M(− id z′)�  �
	���# ���
� =0> �� �	-�

g∗(z) = (− id)∗(z′) · g∗(z) = (− id ·g)∗(z)
= (g · − id)∗(z) = g∗(−z) · (− id)∗(z) = g∗(−z).

*�
�� h+ 	
� h− ��
��	�� SL(2,Z)# �� �� ���( 	� ����� 	����
 �
 ��� '���

����
��� �������� �� �$�	�
 �������� �
����	���
 �
 ��� 	����
 �� SL(2,Z)
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R
L

L
R

α

β β

α

 ����� �� ,�� ��� S ��"
�� �
 ��� 8���	 ���

������� ,�� 
��� ������ �� ���-�
 �
 8���	 .�. �� �C�# �� ����� �� ����� ��� ���

������

-���� ��� '�� S =
{
(x, y) ∈ T 2

0 : − 1
2 ≤ x+ y < 1

2

}
, ��� ������ %� ��� �����

z ∈ T 2
0 �� ����

(h±)∗(z) =

⎧⎨⎩h±, �
 z ∈ S!

h−1
± , �
 z /∈ S�

,�� ���-���� 8���	 �
	$��� �� �� �-	��	�� ��������� ��� 	����
 �
�����

���� H
(0)
1 (M(z);Z) �� H

(0)
1 (h± ·M(z);Z) $� h±�  �� 	 ����
�# �� �� �����

�����
������
� $�����
 ��� ��
������ ����� T2
0 	
� ��� ��
�	��
�	� ���	�
 T

2
0

��"
�� $� =�>� 5
 �	��# �� ���	�( ��	�

z ∈ S ⇐⇒ h±(z) ∈ T 2
0 .

!����
� χ = χT 2
0
��� ��� �
���	��� ��
����
 �� T 2

0 # �� �	
 ���� �����	�� 8���

�	 �� 	�

(h±)∗(z) = h
1−2χ(h±(z))
± .

5
 ����� �����# �� 	���� 	�����
� ��� ��	
�����	���
 h± ��� �
����
� z �� ���

���� �� ������� ��� ��
�	��
�	� ���	�
 T 2
0 # ���
 ��� �
����� 	����
 �
 ���

'��� ����
��� �������� �� ������� $� 2� 5���	��
� ���� ��	��
�
�# �� ��� ���

�������
�

��������� ��� '������ ���� �� ����� ��� �����
��
����� hn−! 
�� ��
� �����
��� ��
��� n! �� ��� ���
��� M(z)! ���� z ∈ T2

0� -����

y + nx = k + {{y + nx}},
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����� {{y + nx}} ∈ [− 1
2 ,

1
2

)
�� ��� 	�������
��� 
��
 ��� ������� ������� ��	

k ∈ Z� ����

(hn−)∗(z) = h
n−2|k|
− .

'�
������! �����	�� ��� �����
��
����� hm+ ! 
�� ��
� ������� ��
��� m� (


x+my = l+ {{x+my}}! ����� l ∈ Z! �� ���� (h+)∗(z) = h
m−2|l|
+ �

+� ��!���
 ����
����� '�� �
����
� r, s

5
 ���� ������
 �� ��
������ ������� ��������
� ��� ��� ����	�� M(z)Γ �
��� ���

	��������
 ��	� z �� �	���
	�# ��	� �� z = (r/2q, s/2q) ∈ T2
0 ���� r, s, q ∈ Z#

|r|, |s| < q# 	
� s �� 
�
�'��� 	
� ������� ���� q� !� �	-�

-���� ��� '������ ���� �� ����� ��� ��
��� s �� r �� �		� ��� a, d �� �������

��
���� ���� ����

=+> 4q < a, d ≤ 6q ��	 r + as ≡ −q (mod 2q), ds− r ≡ −q (mod 2q),

��	 ��� n = 8qm! 
�� ��
� m ∈ N� ����! �������

gz(n) = hd−1
+ · h− · h+ · hd− · hn+ · ha−1

− · h+ · h− · ha+ · hn− ∈ SL(2,Z),

�� ����

gz(n) ·M(z) =M(z), ��	 (gz(n))∗(z) = id .

*���
� 8�� �� "��� ���� ��	� �� ��H��� �� ���� ��� ������ ���
 s > 0� 5
 �	��#

�� s < 0 ���
 �� �	
 ��
����� −z ∈ T2
0 	
� "
� 	 ��	
�����	���
 ���� ��	�

g−z ·M(−z) =M(−z) 	
� (g−z)∗(−z) = id� J� 	��������
 z ∈ F # �� ���� =A>

�� �	-� g−z ·M(z) =M(z) 	
� (g−z)∗(z) = id# ����� �� ��	� �� �	
����

?�� �����

(hn−)∗(z) = ht−.

?��� ��	� �� �	-�

t = n− 2|4mr|,
��
�� hn−(z) =

(
r
2q ,

s
2q + 4mr

)
� *�
�� s 	
� q 	�� ������� 	
� ������ s �� r ��

���# ����� ����� a, d, k, l ∈ N ���� ��	� 4q < a, d ≤ 6q 	
�

r + as = 2qk − q,

ds− r = 2ql− q.
=C>
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!� �	-�

hn−
( r
2q
,
s

2q

)
=
( r
2q
,
s+ 8mr

2q

)
,

ha+

( r
2q
,
s

2q

)
=
(r + as

2q
,
s

2q

)
=
(
k − 1

2
,
s

2q

)
,

h−
(
− 1

2
,
s

2q

)
=
(
− 1

2
,
s

2q
− 1

2

)
, h+

(
− 1

2
,
s

2q
− 1

2

)
=
( s
2q
,
s

2q
− 1

2

)
,

ha−1
−
( s
2q
,
s

2q
− 1

2

)
=
( s
2q
,
(a− 1)s+ s− q

2q

)
=
( s
2q
,
−r + 2(k − 1)q

2q

)
,

hn+

( s
2q
,− r

2q

)
=
(s− 8mqr

2q
,− r

2q

)
=
( s
2q

− r,− r

2q

)
,

hd−
( s
2q
,− r

2q

)
=
( s
2q
,
ds− r

2q

)
=
( s
2q
, l − 1

2

)
,

h+

( s
2q
,−1

2

)
=
( s
2q

− 1

2
,−1

2

)
, h−

( s
2q

− 1

2
,−1

2

)
=
( s
2q

− 1

2
,
s

2q

)
,

hd−1
+

( s
2q

− 1

2
,
s

2q

)
=
((d− 1)s+ s− q

2q
,
s

2q

)
=
(2(l − 1)q + r

2q
,
s

2q

)
,

�� gz(n) ·M(z) =M(z)�

!� 
�� �	-� �� 	
	���� ��� 	����
 �� ��� �
����� ��	
�����	���
 �
 ��� '���

����
��� ��������� !� �����

(ha+)∗
( r
2q
,
s

2q

)
= hã+.

������	�� �0 ��-�� �� ��	� ã = a − 2k# k $��
� ��� 
	���	� 
��$�� ��"
��

$� =C>� *�
�� a > 4q# �� �	-� ��	� ã > 0� !����
�

(hd−)∗
( s
2q
,− r

2q

)
= hd̃−,

���� d̃ = d− 2l > 0# �� �	
� �� ���� ��	� �� �	-�

(gz(n))∗(z) = hd̃+1
+ · h−1

− · h+ · hd̃− · ht+ · hã+1
− · h−1

+ · h− · hã+ · ht−
= hd̃+ · ω · hd̃− · ht+ · hã− · ω−1 · hã+ · ht−
= hd̃+ · h−d̃

+ · h−t
− · h−ã

+ · hã+ · ht−
= h−t

− · ht− = id,

����� �� ���� ��� ���
������ =�>�
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/� 0 < s < q# �� �	-� ��	� (−1/2, s/2q) ∈ S 	
� (−1/2, s/2q− 1/2) /∈ S# ��

�� �	-�

(h−)∗
(
− 1

2
,
s

2q

)
= h−, 	
� (h+)∗

(
− 1

2
,
s

2q
− 1

2

)
= h−1

+ .

)����-��

(h+)∗
( s
2q
,−1

2

)
= h+, 	
� (h−)∗

( s
2q

− 1

2
,−1

2

)
= h−1

− .

�	����
� ��� 	
	����� �������# �� �	-�

(ha−1
− )∗

( s
2q
,
s

2q
− 1

2

)
= h

a−1−2(k−1)
− = ha−2k+1

− = hã+1
− .

*����	���

(hd−1
+ )∗

( s
2q

− 1

2
,
s

2q

)
= h

d−1−2(l−1)
+ = hd̃+1

+ .

,� ��
�����# �� �
�� �	-� �� ���� ��	�

(hn+)∗
( s
2q
,− r

2q

)
= ht+.

,��� �� ���	� ��
�� (s− 8mqr)/2q = s/2q − 4mr 	
� ���� ������	�� �0 ��-��

(hn+)∗
( s
2q
,− r

2q

)
= h

n−2|4mr|
+ = ht+.

,��� ��������� ��� ����� �� ��� 8���	�

,� ��� 	 ����� $��
� �
 ��� 6	�����7 ����
���
 �
 ��� ��� �� ������� ���

������
� �� ���� ��� ��� �������
� ��	
�	�� �������

$���������
 �#� ��� ��� ā, b̄ ∈ Nm! ���� m ≥ 0! ��	 
�� ��� ��� D = dN+c ⊂
N! ���� d, c ∈ N ��	 d > 0! c ≥ 0! ��� ����	��� 	�
������ �
 ��� ���

E(ā, b̄) = { [0; ā, n1, b̄, n1, ā, n2, b̄, n2, . . . ] : ni ∈ D
}

�� ������� ���� 1/2�

*���
� !���� ā = a1 . . . am 	
� b̄ = b1 . . . bm� !� �	
 	����� m ≥ 4 	
� m

�-�
�  �� l ∈ N# ��"
� ��� �	� ψā,b̄,l : [0, 1] → [0, 1] $�

ψā,b̄,l(x) = [0; a1, . . . , am, l, b1, . . . , bm, l + x] =
pm(ā, b̄, l)(l+ x) + pm−1(ā, b̄, l)

qm(ā, b̄, l)(l+ x) + qm−1(ā, b̄, l)
.

,���

ψā,b̄,l([0, 1]) =
[
[0; a1, . . . , am, l, b1, . . . , bm, l], [0; a1, . . . , am, l, b1, . . . , bm, l + 1]

]
.
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 �� x ∈ [0, 1]# ������
� ��� ����
��
�� �� qm 	
� qm−1 �
 ā# b̄ 	
� l# �
� �	�

ψ′
ā,b̄,l(x) =

1

(qm(l + x) + qm−1)2
≥ 1

(qm(l + 1) + qm−1)2
=: eā,b̄,l

	
�

ψ′
ā,b̄,l(x) ≤

1

(qml + qm−1)2
<

1

4
.

?��# ��� �-��� u ∈ N# ��� Du = d{1, . . . , u}+ c� �	��

Eu(ā, b̄) =
⋂
k≥1

⋃
(n1,...,nk)∈(Du)k

ψā,b̄,n1
◦ ψā,b̄,n2

◦ · · · ◦ ψā,b̄,nk
[0, 1].

,��
 Eu(ā, b̄) ⊂ E(ā, b̄)�
8��

Eu =
[
[0; ā, du+ c, b̄, du+ c], [0; ā, d+ c, b̄, d+ c+ 1]

]
.

!� ���	�( ��	�# ��
��m �� �-�
# [0; ā, du+c, . . . ] < [0; ā, d+c, . . . ]� J� ��"
����


�� ψā,b̄,l �� �	-� ��	� ψā,b̄,l(Eu) ⊂ Eu ��� 	�� l ∈ Du� )����-��# ��� �
���-	��

ψā,b̄,l(Eu) 	�� �	������ ���3��
�� F���������
 1�+ �� �A� 	������ ��	� ��� 6	�����7

����
���
 dimH(Eu(ā, b̄)) ≥ su# ����� su > 0 �� ��� �
�4�� �������
 �� ���

�4�	���

u∑

l=1

esu
ā,b̄,dl+c

= 1.

*�
��
∑∞

l=1 e
1/2

ā,b̄,dl+c
= +∞# �� �	
 "
� 	 u ∈ N ���� ��	�

∑u
l=1 e

1/2

ā,b̄,dl+c
> 1�

5
 �	������	�# su > 1/2 	
� ��

dimH(E(ā, b̄)) ≥ dimH(Eu(ā, b̄)) ≥ su > 1/2,

	� �� �	
��� �� �����

-� .��	��� '�� M̃(z)Γ

������� �/� '������ ���� z = (r/2q, s/2q) ∈ T
2
0! ����� r! s ��	 q ��� �������

��
���� ���� |r|, |s| < q ��	 s 
= 0 �� �����
� ���� q� '������ 
������� ����

�� ����� ��� ��
��� ������� r ��	 s �� �		� ��� ����� ��)����� �
 �������

��
���� (ni)i≥1 �� 8qN! ���

ϑ = [0; d− 1, 1, 1, d, n1, a− 1, 1, 1, a, n1, d− 1, 1, 1, d, n2, a− 1, . . . ].

���� ��� 	����������  �� ����� ��� 	�������� θ �
 ��� ������ (1, ϑ) �� ��� Z2�

����� M̃(z)Γ ����� �� Γ = (β,−α) �� �������� �������
���! ��� ����	���

	�
������ �
 ��� ��� �
 ���� 	��������� �� ������ ���� 1/2�
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*���
� !� $���
 $� 
���
� ��	�# ������
� ��� �
����� �� ϑ �
 $���(� �� ��
���

��
# �� �$�	�
 ��� ��	
�����	���
� gz(n1)# gz(n2), . . . �� ��� ���� ������$�� �


8���	 �.� !� ���
 (
�� ��	�

gz(ni) ·M(z) =M(z), 	
� (gz(ni))∗(z) = id,

��� 	�� i� !����
�# 	� ���	�# ϑ = [0; a1, a2, . . . ] �� �	-�

a10k ≥ 8q ≥ 4q + 4 ≥ 4q + 4

q − |r| =
4(1 + ε)

1− |r|
q

,

���� ε = 1
q � *����	���

a10k+1 ≥ 4q ≥ 2q + 2 ≥ 2q + 2

q − |s| =
2(1 + ε)

1− |s|
q

.

,��� 	�� ��� ���������� �� ,������ 1 ����� *� ��� ��� �
 ��������
 θ �� (1, ϑ) ��

������� �
 ��� �
"
��� ����	�� M̃(z)Γ�  �
	���# ��� ����� $��
� �
 ��� 6	�����7

����
���
 �� ��� ��� �� ������� ��������
� �� ��-�
 $� F���������
 �@�

,� ������ 	 ��	����
� 	$��� ���������	� 	$�
�	
�� �� ������� ��������
� �


M̃(z)Γ# �� 	�	�� �� ��� �����
� ���� ������� ��-������ ��� Z���-���� 5� z ��

�	���
	�# ������	�� ��+ �� ���� 	������ �� ��	� ��� 2���� ����� �� M̃(z)Γ �� 	

�������� ��$����� �� PSL(2,R) ����� ����� ��� �� RP1� G��	�� ��	� 	 ��� �� 	 Gδ

�� �� �	
 $� �$�	�
�� 	� 	 ���
�	$�� �
���������
 �� ���
 ����� ,��
# ���
� ���

�	�� ���	���� �� F���������
 �� �
 ��.� �� ���-� ��� �������
�

-���� �%� '������ ���� z = (r/2q, s/2q) ∈ T2
0! ����� r! s ��	 q ��� �������

��
���� ���� |r|, |s| < q ��	 s 
= 0 �� �����
� ���� q� '������ 
������� ����

�� ����� ��� ��
��� r �� s �� �		� ���� ��� ��� �
 ����	�� 	��������� �� M̃(z)Γ


��
� � Gδ 	���� ������ �
 S1�

*���
� !� �	-� ����
 �
 ��� ����� �� ,������ �� ��	� ����� ����� ��� ��7���
�

������ C̃h 	
� C̃v �
 M̃(z)Γ ���� k(Ch) = (1, 0) 	
� k(Cv) = (0, 1)� *�
��

��� 2���� ����� �� M̃(z)Γ �� ��������# �� �	
 �
����	�� ��� �����
��� G =

{g1, g2, . . . }�  �� 	 
	���	� n 	
� 	 "��� ε > 0# �	�� Bn ⊂ S1 ��� ��� �� θ′� ���
�����

=1> |(cos θ, sin θ) ∧ gv(Ch)| ≤ (1− ε)
A(Ch)

2
, ��� ���� g ∈ G \ {g1, . . . , gn}�


	�� �� ����� ���� �� ���
� )����-��# �� θ ∈ Bn ���
 	�� �� ��� ��$�� �
��� G#

������ �-�
��	��� gig
−1# ��� i = 1, . . . , n# �� ��
�	�
�� �
 Bn 	� ����� *�
�� ���
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����� ��� �� G �� RP1# ���� ������� ��	� �	�� Bn �� ��
�� �
 S1� ��
����� ���

��� Bh = ∩Bn� 5� 	 ��������
 �� �
 B
h ���
 �� �	���"�� =1> ��� �
"
����� �	
�

��7���
� g′�� 5� �� ���� ���� 	�������	��� $� ��� �
"
��� ������ gC̃h� *�
�� ���

�
���������
 ���� �� �
-	��	
� �
��� ��7�����������# �� �	-� k(gC̃h) = (1, 0)�

*����
� ��# �� �	-� ����
 ��	� �� �	
 "
� 	 ��4��
�� �� ������ ��	� �������

��� ����
��	� -	��� (1, 0) 	
� ���� 	�������	�� �-��� ��������
 �
 	 Gδ ��
��

����

G�	��
�
� �
 ��� �	�� �	� �
 Cv# �� ��� ��� ������
�� �� 	 Gδ ��
�� ��$���

�� Bv ⊂ S1# ��� ����� �����	� ��
������
� ���� ��� ��� ����
��	� -	��� (0, 1)� ,��

�
���������
 Bh ∩ Bv �� ���� 	 Gδ ��
�� ��$��� �� S
1 ������ �� ��������
� ����

	�������	��� $� �
"
����� �	
� ������ ��	� ������� ����
��	� -	���� (1, 0) 	
�

(0, 1)�

,� ��
�����# �� ��H��� �� ���	�( ��	� ��� ��������
� �
 Bh ∩Bv 	�� �������

��������
� ��� ��� ��������
	� ��� �
 ��� ����	�� ����	��� M(z)� ,��� �� ����

$��	��� ���� �� 
�� ��������
� �� 	 ����
��� ������������
 �� ��� ����	���

*�
�� M(z) �� 	 �4�	�������� ����	��# 	
� ��
�� 	 2���� ����	��# ���� �	-� ��

$� ������� ��������
��

/� �

 �� �
��� ������

5
 ���� ������
 �� ��	
��	�� $	�( ��� ������� �� �$�	�
�� �
 ��� ���-���� ������
�

�� ��� �����
	� �����
� �� ������� �� 
	��
 ��
��� �
 ����� �� ���-� ,������ 0�

G��	�� ��	� ���
 �� ������� ���� ��� ������ L(Λ, R) �� Λ��������� 
	��


��
��� �� �	���� R �� ��� �	� ���
����	�� F (Λ, R)# �� ���� �
�������� �
�� �
 ���

-�����	� ��������
 	
� ���� �� ����� ��$������� 	 ������	� ��
� ���� ��� ����'�
�	�

��	������ 5
 ��� ����� �� ,������ 0 �� ���� ��� ��-��	� ����� ��� �������
� �	���

-���� �& =8���	 1�0 �� �1�>� ��� (M,ω) �� � ����������� ���
��� ��	 θ ∈ S1 �

	��������� (
 g ∈ SL(2,R)! ���� θ′ ��� 	�������� 	����
���	 �� eiθ
′
= geiθ/‖geiθ‖�

���� ����� ������ �� s > 0 ���� ���� ���  ��� ϕθ′
st �� g ·(M,ω) ��	 ϕθ

t �� (M,ω)

��� 
������ ������������� ���
������ ��� � ��
��
������
� (� ����������! ���

�� ����	�� �
 ��	 ���� �
 ��� ����� �� ����	���

*���
 �
 ������
 .� 8�� 0 < R < 1/2 $� ��� �	���� �� �	�� ��
�� ,��
 Z2

�� 	
 R�	������$�� �	������ *�
�� R�	������$����� �� 	
 ���
 ��
�����
 ����� ��

�
-	��	
� �
��� ���	���
�# ����� ������ 	
 ε > 0 ���� ��	� Gthτ rθ · Z2 �� �����
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R�	������$�� ��� (t, τ, θ) ∈ (−ε, ε)2 × S1 	
�

hτ =

(
1 0

τ 1

)
.

?��� ��	� �	���
	� 
��$��� �� ��� ���� s/2q ���� 0 < s < q ��� 	�� ��
�� �


��� �
���-	�
(
0, 12

)
�  �� s/2q → R 	
� q → ∞ �
� �	�

R
s
2q cos(arccot 4q)

→ 1.

!� �	
 ���
 "
�# ��� 	
� ��-�
 ε > 0# 	 q $�� �
���� 	
� 	 
��$�� s/2q �����

�
���� �� R �� ��	�

log
R

s
2q cos(arccot 4q)

< ε.

!���� z = (0, s
2q ) 	
� ��
����� ��� ����	�� M̃(z)Γ# ����� Γ = (β,−α)� ,���

���� �� ��-�� ��� ������
�� �� 	 ��� �� ��������
� E = E(s/2q) ⊂ S1# ����

dimH E > 1/2# ���� ��	� ��� ��� �
 ����� ��������
� �� ������� �
 ��� �
"
���

����	�� M̃(z)Γ� *�
�� 	
 ������� ��������
 θ �� ��� ��������
 �� ��� -����� (1, ϑ)

	
� ϑ = [0; d−1, 1, . . . ]# ���� 4q < d ≤ 6q# �� �	-� cot θ = [d−1; 1, . . . ]� /� $���

cos 	
� cot 	�� �����	��
� ��
����
� �
 (0, π) �� �	-� cos θ ≥ cos(arccot 4q)� *�#

��� 	�� θ ∈ E# �� �	-�

=�D> t∗ := log
R

s
2q cos θ

≤ log
R

s
2q cos(arccot 4q)

< ε.

������ 
�� �
� �����"� ������� ��������
 θ �
 M̃(z)Γ� !� 	�� ���
� �� ��	
��

�	�� ��� ���������� �� ��� ��� ϕ̃θ
t �
 ���� ����	�� �
�� ��� ���������� �� ��� -�����	�

��� �
 ���� �������� ��
"���	���
 �� 
	��
 ��
��� ��������
� ��� ������
����

�� L � ,�� ����� ��������� �� �����	���	��� �������
��� �
  ����� A�

!� "��� 	���� 	 ���	���
 �� 	
��� π
2 − θ �
 	
������(���� ��������
 �
 ����� ��

$��
� ��� ��������
 θ �
 ��� -�����	� �
�� !� �$�	�
 ��� ����	�� rπ
2 −θ · M̃(z)Γ�

!� ���	�( ��	� ��� -�����	� ��� �
 ���� �
"
��� ����	�� �� ��������

!� �	
 
�� 	���� ��� ��������� ��� hτ ��� ���� ���� τ ∈ (−ε, ε)� /� hτ
"��� 	�� ��� -�����	� -������# 8���	 �+ ��	�	
���� ��	� ��� -�����	� ��� �� �����

������� �
 ��� �
"
��� ����	�� hτrπ
2 −θ ·M̃(z)Γ� )����-��# ��� �	����� hτrπ

2 −θ ·Z2

�� R�	������$�� $� ��� 	��������
 �
 τ �

/���� ��� �������� ��� Gt ��� ���� t
∗ ��-�
 $� =�D>� !� �$�	�
 ��� �
"
���

����	�� Gt∗hτ rπ
2
−θ · M̃(z)Γ �
 ����� ��� -�����	� ��� �� �������# �
�� 	�	�
 $�

8���	 �+�  �
	���# �� �	
 ���3��� ��� ���� �� �	-� �$�	�
�� �
�� 	 ����'�
�	�
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θ

π

rπ hτ

Gt*

projection on

horizontal

2-θ

2
π
2

π
2

π
2

 ����� A� / �	����
 �� ��� 
���	���	���
 �� ��� ���� 	� ������$��

�
 ��� ����� �� ,������ 0�

�
� ��
���� 	� ��� �	�� ���
�� ,��� t∗ �� �����
 �� ��	� ��� �������
� ����

�	� ��������� ��
��� 2R� �	���
� Λ = Gt∗hτrπ
2 −θ · Z2 	
� ���
� ��� 
��	���


�� ��� �
���������
# �� �	-� �$�	�
�� ��� ����	�� M̃(Λ, R)# ��� ����
�	���


��-���
� �� F (Λ, R)# ��� Λ��������� ��
"���	���
 �� �	� ��
��� �� ��
��� 2R�

,�� -�����	� ��� �
 ���� 
�� �
"
��� ����	�� �	� ��� �	�� ���$	� $��	-���� ��

��� -�����	� ��� �
 Gt∗hτrπ
2 −θ ·M̃(z)Γ ��
�� ��� ��� ���� ��7�� �
�� �
 	 ��	��


����$������� �� ��� ������ ,��� ����� ��# �
 �	������	�# ��	� ��� -�����	� ���

�
 ��� ����	�� M̃(Λ, R) �� ����� �������� ?��� ��	� ��� �	����� Λ �� R�	������$��

��	
(� �� =�D>� 6�
��# ���� ������ ��� ��� ����
�	���
 ��-���
� �� ��� �	� ��
���

������	���� ������� ��	� ��� 
	��
 ��� �
 ��� ��������
��
� ������ �� ������	�


	��
 ��
��� �� ��������

��
����� 
�� ��� ���

E =

{
Gt∗hτrπ

2
−θ · Z2, τ ∈ (−ε, ε), θ ∈ E

(
s
2q

)
, t∗ = log

R
s
2q cos θ

}
⊂ L .

!� 3��� ������ ��	� ����� �	������ 	�� R�	������$�� 	
� ��	�# ��� �-��� Λ ∈ E #

��� -�����	� ��� �
 M̃(Λ, R) �� �������� !� 
�� �	
� �� �����	�� ��� 6	�����7

����
���
 �� ���� ����
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,�� ���	� ������� ��������� �
 L ��-�
 $� ��� 5�	�	�	 /?% ������������


�� SL(2,R) ������� ��	� ��� 6		� ��	���� μL �� ���	��� �4��-	��
� �� ��� �������

8�$����� ��	���� �
 ��� ������
	��� (t, τ, θ)� *�
�� ��� t�������
	�� �� �
�4����

�������
�� �
 ����� �� θ# dimH E = dimH π2,3(E )# �����

π2,3(E ) =
{
hτ rπ

2
−θ · Z2, τ ∈ (−ε, ε), θ ∈ E

(
s
2q

) }
⊂ L .

!����
� π2,3(E ) =
⋃

τ∈(−ε,ε) hτ ·
{
rπ

2 −θ · Z2θ ∈ E
(

s
2q

) }
# �� ��� ��	�# �
 ���

(τ, θ) ������
	���# π2,3(E ) = (−ε, ε)× E� ,��� ����� �� ��	�

dimH E = dimH π2,3(E ) ≥ 1 + dimH E > 1 +
1

2
=

3

2
,

	� �� �	
��� �� ���-��

�!0
� ��
	��
��� ,�� 	����� ��	
(� ��� �����-���� ����

	 B�����	� ���

��� �
-	��	$�� ������� 	
� ����	
�� ���������� ��� �����
� �� ���� �	���� !�

��	
( %�'��'���  �&�'�( ��� ��������
� ��� ���$��� �� �� 	
� ��� ������ ����

������
�# 	
� ,���	� N���	
 ��� ��� �������� ���� �
 ��� ������� ��
���
�
�

6	�����7 ����
���
� !� 	��� ��	
( ��� 	
�
����� ������� ��� ���O��� �������

���
� ��	� �����-�� ��� �����
�	���
 �� ��� �	����

.�'����
��

9.: +� #������� �� �������	�
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�� 
����
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#���� *�� ���<���� �� �

����

9!: ,� 0�������
 �
������� �����	���
�� 
� ��� ���
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��	�� (����������� ��� A-".4B -4.=-87�

9.": �� ;� ���
�� ��� 
����
��� �������� �� ���� 
���
�� 
������� �%	����� ���� )����

'�
��� �� A-".5B .785=-"!7�



56 �#$%& #%'()(#*( (��� +� �����

9..: �� ;� ���
�� ��� J� ����� &������
!�� ���
�	����' ��	�����	� ��� �������� #��� (����

D�	���� A)�������B �� A-".-B .57.=.6""�

9.-: ;� �	���� 2� 3���K��� ��� 2� '��	���IF�� ��� 
�������� �
������� �����' ���
��
	

�
��	�
���( ��	�����	�( �
)��
�� +� %���� #����� ����� ��� A-"..B --!=-44�

9.!: ;� �	���� ��� J� ����� 
����
	
�� ��� 
���
�� ���
��
	 ��������
�� �����	�� 1��
���

����� ��� A-".!B .!64=.!7"�

9.4: �� ���	� 
����
	 ������ �� ��������
�� �����	�� �� *���#��+ �� �����
	�� ,������-

.��- /0 �������� J�,� #�������� -""6 

� 5-/=54/�

9.5: �� ���	� *������) �
����
�� �� ��� ��� �� ��������
	 ���
��
��� �� � 1������
	 �
)��

����
�� 0	F� ����� +� �� A.88-B !7/=44-�

9.6: �� ���	� ��� 2� '�������F�� ���
���� #
��
���� ��� "�� ����	����� �� *���#��+ ��

�����
	�� ,������- .��- /� *������������ #�������� -""- 

� .".5=."78�

9./: C� 2������ ��	�	��� �� 
����
	 �����������
�� &����� ��������� 3���	��� �� ����

�������� . ��������� 1��
��� �� (���� 0���� .8// 
� -"-�

9.7: �� ,���� �����
	� �� 
������� �%	����� �����������
��� ��� ��
	������� "��� -""7�

����������	
����
���	��������	������� �

9.8: #� >�����  ��� �����	�� ��  ����
��� 
� $��#�� ������( 2���
	�( ��� &�������- �

A;� 1������ �� ��� ����B 2
������ J����� -""6 

� 4!/=57!�

http://w3.impa.br/~viana/out/ietf.pdf

	1. Introduction
	2. Background
	3. Ergodicity Criterion
	4. Construction of ergodic directions
	5. Ergodic directions for rational r, s
	6. Results for M"055DM(z)
	7. Back to Eaton lenses
	References

